normalized X?

[ normalized x? probability |

09¥0—2"4 6 8 10 12 14 16 18 20 095
2

O

0.1 0

3040506070 L
Probxz)

== DQM_V0001_R000000001__Global_
e DQM_V0001_R0O00000001__Global_|
m—— DQM_V0001_R000000001__Global_

mkFit_noCAND
mkFit_CAND
mkFit_batchCAND-adjusted

1

2L g

5 s

< A

% o 0

v e

o

o

\"
-2
-3
-4

° : o5

3 : T

x x

b b i ik ad » bl o
0.95 i 095 .
3 -2 -1 0 1 2 3 23 -2 - 0 1 2 3
n TP n (PCA to beamline)

A A E

2 2 18fF-

U < 1.6f-

\ v o
1.4~
1.2F

-
0.8F-
0.6F
0.4F

! 0.2F

o | : o QF

T i : T

14 p . 14

: 0.5k
o 1 10 1(l)2 0 10° 1072 1071
&T AR(track, jet?

< 1.5

S [

A o

E_'— 1_— ------------- P SRR R

- F

o -

© o

v 05_ """"""" DAt




	Contents
	Page 1


